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Reasoning Mega Quiz for SSC CGL - Advance Level (Solutions)

S1. Ans. (b)

S2. Ans. (c)
Sol. A person gets punishment when commits crime and gets rewarded for honesty.

S$3. Ans. (a)
Sol. The pattern between corresponding letter of 1stand 2nd term is +1, similarly for 34 and 4t term.

S4. Ans. (d)
Sol.
PROTOCOL= RPTOCOLO
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$5. Ans. (a)
Sol.
102+-2+1=52

$6. Ans. (d)
Sol. Difference between 15t and 274 term is 1111 and same for 3rd and 4th.

S$7. Ans. (c)
Sol. Opposite facesare5 < 6,3 & 4and 2 & 1.

$8. Ans. (d)

TEST SERIES
S9. Ans. (d) Bilingual
Sol.

72-68=4=>4x11=44 RRB NTPC

Similarly 91-86=5=5x11=55

PREMIUM

100+ TOTAL TESTS

$10. Ans. (b)
Sol.

8x2x4)1/3=4 -
{ (12 xﬁ)x 3)15 =6 Validity : 12 Months
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S$11. Ans. (d)

Sol.
= 3
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All follow this pattern, except option (d).

S$12. Ans. (b)

Sol. In all other option both terms are even.

$13. Ans. (a)
Sol. All other are fruits.

S14. Ans. (a)
Sol. 144 is a perfect square.

$15. Ans. (a)
Sol. In all other pattern is +2 +2 + 2.

$16. Ans. (d)

Sol.

Pole shadow
o

T

Rajan
Rajan is facing North.

$17. Ans. (c)
Sol.
Q
>R
P R
$18. Ans. (d)

Sol. Statement suggests that expensive apples have superior quality.

$19. Ans. (d)

$20. Ans. (d)

S$21.Ans. (a)
Sol. Opposite of given term
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$22. Ans. (d)

TEST SERIES
Bilingual
$23. Ans. (b) 9 @

Sol. 2nd term is reverse of 15t term.

524. Ans. (d) DMRC CRA

Sol.

The pattern between 15t and 2" term is 2 0 1 9

112X 2 -2 =222
So,442X 2 = 882

10 TOTAL TESTS

$25. Ans. (a);
Sol.
2*=8,(2+1)*=9,Similarly 4° = 64,(4 + 1)* =25
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